BatFhe202 L iR A AREN & R

ELRS = PAREE HrmmE | EFXAN | FIAN | URBEE | EIitH | GE8m%k [&iE
100081210000930 |3k* 080400 I #FHFEHAR \AXHJiH | EEgG% |[eH6H [ JEEmml |1 647.40
100081210009239 | £* 080400 fX skl 5HA | AXHnhH |[&E%% |aHE | deE sl | 598.20
100081210000929 | E*jr.  |080400 X &A= 5HA AR 4% % |40 HEgmghl X 593.40
100081210000928 |#* 080400 Xk~ 5HAR AX 4 | EE%H |HH | HEErsl |k 573.20
100081210000924 |xi*/%  |080400 (X &A= 5HA AR A 4% % 406 HEEmghl X 568.00
100081210000925 |[(*fF  |080400 {2 5HAR RX M |[£E%% 204 |dEEmsl |1 564.80
100081210008891 |7k*# 080400 & B HHAR [ RX M |[Eg % |&HG | deEmhlk |1 544.60
100081210001109 |#%* 080400 X & FHAEHA | AX M |EEg% |eHE | FEEmhl |1 533.60
100081210000920 | F* 080400 &R HHEAR AKX hm [ aEg% a6 | dEErsnk |1 525.60
100081210000917 |fa*3%  |080400 & B A H5HAR [ RX 4 h M |[£E%% 4H& | deEmslk |1 508.60
100081210010149 |#*4k  |080400 (X & A 5HA ARy [&Eg% 4HH Al |1 495.00
100081210000956 | i4*#%  |081100 =il 5 TR | AX A [£E%% |&HE HEEmml |k 652.40
100081210001115 |&*fi;  |081100 =HIRIE 5 TR (AKX 4 (%% |2 HE  |[HJEgmsnl | T 623.40
100081210000970 |sk*# 081100 =I5 THE AR H |[©E%% [&H0% | HJegmsl |k 614.60
100081210006998 |[4*%:  |081100 =HIRI =S T (AKX 4 (%% |2 ezl | T 608.00
100081210001001 |3k* 081100 #ZHIFHA S TR | AXHhH EE%% |HH [ HEErsil |1 607.80
100081210005893 |i#x*# 081100 ¥Rl %5 T | RX47H |[4E%%% 2HG | dEEms |1 603.40
100081210001114 | F*ic (081100 fZHIRIE 5 TR [ AX 47 |&E%% |2 % el | L 601.60
100081210001000 | ~*% 081100 fZHIRI 5 T (AR 4 (%% |4HE  |[HJEgmsl | T 597.80
100081210000991 |Hi*E  |081100 f#HIRIE 5 T (AR 47 H | &E%% |20 [Hexmsl | © 596.60
100081210008562 |5k*¥f |081100 =R =S T (AR 4 (%% |2HE  |[HdEgmsl | T 595.60
100081210000995 |xI* 081100 #ZHIFFE 5 T | AXahH |&ES% |aHE  deE sl | 595.40
100081210004570 |3k*z%  |081100 f=HIRIE S5 TR (AKX 4 (%% |2HE ezl | T 590.80
100081210006547 |ji*%% 081100 =l 5 THE AR |[©E%% [&H0% | HJegmsl |k 590.40
100081210001113 |Z=*#t  |081100 = HlRl %5 T | AX4 7w |2E%%% &G |l | T 586.40
100081210000967 |z£*ig 081100 &=l FlE S TR | AX 4 mm |[2E%% |4 HE  |degml |G 585.20
100081210000994 | #* 081100 #MIFH ¢ 5 TR AX4hE |[EEg% a6 | dEErsnk |1 584.40
100081210002830 | F*# 081100 fZHIRI 5 T [ AX 47 |&E%% |2 % el | T 581.00
100081210008196 | #)\* 081100 ¥ ¥ 5 TR AX4hH | EEg% a6 | dEErsnk |1 576.00
100081210000976 | Ff-* 081100 ZHIFHF 5 TR AXHhH | EES% |[&HE | JEEml |1 572.80
100081210001116 |E*l  |081100 #=HlRL %5 T | AX4A7m |2E%% &G |l | T 569.20
100081210008628 |Gi*:  |081100 #=HilFl =5 TR | AX4pJiH |[£E%% |&HE [HEEmsl |k 567.00
100081210000960 |x1*)1]  |081100 #=HIAR =5 T (AKX 40 (%% |2HE  |[HJEgmsnl | T 566.40
100081210004545 | [*x (081100 =I5 THE (AR H |[©E%% 204 il |k 566.40
100081210000961 |#:* 081100 #=HIFA 5 TR (AKX 4R |[EE%% (4HE  |HJegrsl L 564.80
100081210008888 |#i*fii  |081100 = HlRl %5 TH AR |&E%% |4HE |l |1 564.20
100081210000965 |#i*75 081100 =l El: 5 TR | AX 400 (SE%% |SHE (e ml |15 557.40
100081210008627 |52*¢ (081100 fZHIRIE 5 TR [ AX 47 |&E%% |2 % | HJewml | L 553.80
100081210009273 |#*Ig¢  |081100 IR =5 TR AR | &E%G% |46 HEEmghl |k 552.40
100081210010230 |#%* 081100 ZHIFHA- S TR AXHHH | EES% |[&HE  HEEmmlk |1 543.80
100081210008552 |#=*[i  |081100 =R =5 TR | AR 4 | 2E%% |2HE  |[HJEgmsl | T 540.80
100081210006168 |xI* 081100 #ZHIFHA 5 T | AXahH |[&E%% |aHE  deE sl | 539.80
100081210002997 | &*f%  |081100 #=HIARIE 5 T | AKX 4 | aE%% |2 HE  |[HdEgmml | T 533.60
100081210007550 \#7*4h 1081100 #=Hl#L 5 T AKX hH | &Eg% |eHH | dEEmil Ef 11t |493.80
100081210001020 |#*1§ 085400 115 2 BHTE  |[aEs% aHE | JEErsilk 629.20
100081210001034 | £*#7 085400 HL 715 BHTE  |£Eg% eHH FEerstl |k 620.60
100081210008499 |#*£} 085400 Hi 115 & BHTE  |2FEs% 4aHE | JEErsilk T 618.40
100081210003546 |d:*I& 085400 Hi 115 K EHITE | aEg% a6 |[dEErEtl (X 615.00

AT, 3T



BatFhe202 L iR A AREN & R

ELRS = PAREE HrmmE | EFXAN | FIAN | URBEE | EIitH | GE8m%k [&iE
100081210007566 | F* 085400 HL 75 2 B LE | 2Eg% eHH [ FEErsl |1 613.80
100081210001053 | F* 085400 L7152 EHITE | aEg% aHSH dEErsl 1 611.00
100081210001136 |*F: 085400 H, 115 & BEHILIE  |&EgH% e dEEnstl | 610.00
100081210004280 |#* 085400 H 752 BHITE  |£Eg% &6 |[dEErEtlk |1 605.60
100081210001024 |{#7*%f |085400 115 2 BHTE  |[aFEs% 4aHE | JEErsilk 604.40
100081210001010 | £*{#;  |085400 HL 715 2. BHITRE  |[£Eg% eHH [FEeratl |k 591.40
100081210002794 | #:*f5  |085400 i 1-{5 5 Eai 0 S e o T S e S e o = I E | = 1 W A 591.20
100081210004229 |##t*7; 085400 Hi 115 K BEHITE | AEg% |adHH [dEErphl | 590.20
100081210001014 | F*Mf,  |085400 Hi¥15 2. B LE  |2Eg% aHH FEErl |1 589.00
100081210001011 |*37  |085400 Hi 115 2 EHITE | aEg% e dEErsl 1 587.00
100081210007564 |#*%  |085400 HLF15 & B LE | 2Eg% aHH [ FEErslk |1 586.20
100081210007575 |Z=* 085400 L7152 EHTE | aEg% aHSH dEErsl 1 585.60
100081210010339 |x1|*}~ 085400 HLF15 & BEHILIE  |&EgH% a6 |dEEnstl | 584.80
100081210001054 | 5*4= 085400 H, 115 & BHITE  |£Eg% &6 |[dEErEtlk |1 582.40
100081210001031 |be*fi  |085400 115 2 BHTE  |[aFEs% 2aHH | JEErsilk 581.00
100081210008669 |7i*= 085400 Hi 115 & BHTE  |£Eg% eHH FEerstl |k 580.80
100081210001076 |*#f |085400 Hi 715 & BHTE  |[&aFEs% 4aHE | JEERsilk T 580.60
100081210007561 |#4*3 085400 Hi 115 & EHITE | aEg% a6 [ dEErEtl | 580.60
100081210008307 |#2*#E 085400 HiT-{Z K&, B LR | e2Eg% aHH FEErl |1 579.60
100081210001033 |H*H 085400 Hi 115 & EHITE | aEg% e dEErsl 579.00
100081210008249 |, *f# 085400 H 115 & B LE |eEg% eHH [FEErsl |1 578.80
100081210001081 | Zy*#k  |085400 HLF15 & EHITRE | aEg% e dEErsl 1 577.20
100081210002498 |Z=* 085400 715 2 BEHILE  |&EgH% a6 |dEEnstl | 577.20
100081210001009 |f5* .  |085400 Hi 115 K& BHITRE  |2Eg% &6 |[dEErEtlk |1 576.20
100081210007565 |5k*J;,  |085400 115 2 BHTE  |[2FEs% aHE | JEErsil 576.00
100081210006004 |#H*H  |085400 Hi 115 5 BHTE  |£Eg% eHH FEeratl |k 575.40
100081210003176 |Hi* 085400 H1L 715 & BHTE  |&FEs% 4aHE | JEErshl 575.20
100081210004767 |[*(% |085400 Hi 715 & EHITE | aEg% a6 [ dEErEhl | 574.00
100081210007572 |Z* 085400 75 2 B LR |aEg% aHH FEErl |1 572.80
100081210001026 |xi*ll  |085400 HL 715 & EHITE | aEg% e dEErsl 1 572.20
100081210001079 |4=*m%  |085400 Hi 115 & B LE |eEg% aHH [ FEErlk |1 571.40
100081210007103 |H-*5  |085400 Hi 115 K& EHITRE | aEg% aHS dEErsl 1 571.20
100081210001049 |{£*7: 085400 H, 115 & BEHILE  |&EgH% e dEEnstl | 570.20
100081210002530 |#%&*Y| 085400 H 115 & BHITE  |2Eg% i |[dEErEtlk |1 570.20
100081210006636 | = *% 085400 115 2 BHTE  |[aFEs% aHE | JEErsilk 570.00
100081210006691 | F* 085400 75 2 BHTE  |£Eg% eHH FEerstl |k 568.80
100081210006238 |#)*f} 085400 Hi 715 & BHTE  |[2FEs% 4aHE | JEErsil 568.00
100081210008889 |i*45 085400 Hi 115 & EHITE | aEg% a6 [ dEErEhl | 567.80
100081210001068 {F*%; 085400 Hi 115 5 B LR | aEg% aHH [FEErl |1 566.80
100081210001133 |£*5 085400 Hi 115 & EHITE | aEg% aHSH dEErsl 1 566.40
100081210001086 |3k*# 085400 Hi 115 & B LE  |eEg% | eHH [FEErl |1 565.60
100081210001013 |E*F  |085400 Hi 115 K& EHITRE | aEg% | aHSH dEErsl 1 565.20
100081210009374 |Bi*i# 085400 H, 115 & BEHILE  |&EgH% a6 |dEEnstl | 565.00
100081210001060 |{%*% 085400 Hi 115 & BHITE  |£Eg% i |[dEErEtlk |1 564.80
100081210001057 |4¢*5E  |085400 115 2 BHTE  |[aEs% aHE | JEErsilk 564.40
100081210001087 | F*  |085400 HL 715 & BHTE  |£Eg% eHH FEerstl |k 564.40
100081210007557 |@* 085400 H1L 715 & BHTE  |2FEs% 4aHE | JEErsilk T 563.60
100081210003186 |3k*#j 085400 Hi 115 & EHITE | aEg% a6 |[dEErEtl (X 563.40

F2701, 3T



BatFhe202 L iR A AREN & R

ELRS = PAREE HrmmE | EFXAN | FIAN | URBEE | EIitH | GE8m%k [&iE
100081210001043 |#)*k 085400 H 115 & B LE | 2Eg% eHH [ FEErsl |1 563.20
100081210009325 |F4*#%;  |085400 H 115 & EHITE | aEg% aHSH dEErsl 1 562.00
100081210001019 |##*#: 085400 H, 115 & BEHILIE  |&EgH% e dEEnstl | 561.20
100081210001029 | /5*4 085400 Hi 115 K& BHITE  |£Eg% &6 |[dEErEtlk |1 561.20
100081210003548 |z=*#  |085400 115 2 BHTE  |[aFEs% 4aHE | JEErsilk 560.40
100081210001058 |Z=*#=  |085400 Hi 115 & BHITRE  |[£Eg% eHH [FEeratl |k 559.40
100081210003777 |#k*#k  |085400 Hi 715 & BHTE  |2FEs% 4aHE | JEErsil T 559.00
100081210006624 |3fi*JE 085400 Hi 715 & BEHITE | AEg% |adHH [dEErphl | 557.40
100081210009375 |#2* 085400 75 2 B LE  |2Eg% aHH FEErl |1 555.40
100081210006240 |*K 085400 Hi 115 & EHITE | aEg% e dEErsl 1 554.80
100081210010480 |3k* 085400 715 2 B LE | 2Eg% aHH [ FEErslk |1 554.40
100081210002831 |#*# 085400 H 115 & EHTE | aEg% aHSH dEErsl 1 552.00
100081210009846 |yT*7 085400 HL-F15 & BEHILIE  |&EgH% a6 |dEEnstl | 552.00
100081210001012 |4:* 5 |085400 Hi 115 & BHITE  |£Eg% aHH FEerstl 550.20
100081210000950 |#£*%; 085400 Hi 715 & ECEETEAEES S aHEH | JEErsilk | 584.20
100081210006844 |[#:* 085400 HL 715 & AR TEEES® aHH FEeratl |k 571.00
100081210004447 |#%* 085400 H1L 715 & EGETEAEES S aHH | JEErsil T 565.00
100081210000946 |Fz*#i 085400 Hi 115 & E R TEAESE |[aH6 [ dEErEil | 563.40
100081210006052 |si2*% 085400 Hi 115 5 R TEAES % | 6 [ degmgol Tt 560.00
100081210009479 |#%*¥% 085400 Hi 115 & AR TEAES % |aHS  dEErsl 1 558.20
100081210000949 |Z=* 085400 715 2 IEUETEEESH aHEH  |dEErstl X 552.20
100081210009000 |fE*#k  |085400 Hi 715 & AR TEAES% |&HS dEErsl 1 550.80
100081210000944 |#:*5 085400 H 115 & IEUETEAEESH aHEH | JEErstl | 545.20
100081210004223 |Jfi*fik  |085400 Hi 715 & AR THAESSE (2 Hw [ degrsl G 540.80
100081210000945 | F-*44;  |085400 Hi 715 & EGEE TEAEES S aHEH | JEErsilk 539.60
100081210010568 |#x*tg 085400 Hi 115 K AR TEEES® aHH FEeratl |k 536.60
100081210001123 |#%* 085400 H1L 715 & EGEETEAEES S aHH | JEErsil 526.40
100081210000933 |#*¥ 085400 H 115 & AR TEAES |aH6 [ dEErEtl | 525.40
100081210004388 |Z5*47 085400 Hi 113 &, IEETEEESH & HEH |HdEerstl X 522.80
100081210000939 | 57* 085400 HL 715 2 AR TEAES% |aHS  dEErsl 1 517.60
100081210000947 |#*fk 085400 H 115 & IEUETEEESH &H6H  |dEErstl | 514.40
100081210000951 | F*f# 085400 H 115 & R TEAES% |aHS dEErsl 1 513.20
100081210000943 |X3*3% 085400 H 115 & IEUETEAEESH aHEH | JEErstl | 502.80
100081210010217 |x]*# 1085400 Hi 115 & AR THEAES % (a G (e mmEl G 501.40
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